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Question Number : 1 Question Id : 26544814308 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The level of teaching that emphasizes memorizing facts and definitions 1s the:

Qdire, bSO éoé‘{,ﬂ}a’m S50eas 5°8) B Sesae ‘%‘;cm:

Options :

Reflective level

2880fon JFow

Understanding level
©BPEFT® oW

Memory level
e mpam
B @

Application level
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4% ©0HBO) ~ow

Question Number : 2 Question Id : 26544814309 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Adolescent learners. compared to adult learners. typically place a greater
emphasis on:

B@resd @grgoHed® PO, TPIrsEE egxdden Fprdmorr IR
JERS ey atieti:

Options :

Self-directed learning and goal setting
%5053 Kjéé @500, ©fs Eg@ﬁm

1. %

Peer approval and social acceptance

S8 778 eRrSdm, rErSE S
2.9 -



Abstract thinking and complex problem-solving

@S @6°SH, 8] Sy HBaTBED

Prior Knowledge and experience

S5 2zRan snOain erngissn

Question Number : 3 Question Id : 26544814310 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following factors relating to the teacher can significantly impact the
learning environment?

©RHNs Homofodd S (Bob wozed® & woddn 9ET5R DOGRIBETR))
Keadohorr (HerHo SohKeH?

Options :

Teacher's preferred mode of transportation
o, s uh
. OGRsEID (@i qTfnJ Bareae wga

Teacher's passion for the subject matter
g8 DXCHo &) @HHI
2. v

Teacher's ability to travel long distances
egHBNE orer Brdo (Haireo Jahise ‘éﬁ}gé
3. %

Teacher's knowledge of current events

DG 3RO SLRHER) H02zRRm
4, %

Question Number : 4 Question Id : 26544814311 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



A teaching method where the instructor delivers information through lectures and
demonstrations 1s considered:

Hesoid ﬁéaﬂgi‘v@, @Eﬁiﬂg%ﬁm @Oe HEPTPSRD e SR AR ﬁtée’ié&")
BeP ©OLPHD:
Options:

Learner-centered

eogTgl éo@%é

1. %

Collaborative learning
HadahHE @ajﬂéﬁfﬁlj
2. ®

Teacher-centered

. SaPERgeD éo@%eﬁ

Project-based learning

B ©oprdd egegdsn

Question Number : 5 Question Id : 26544814312 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Traditional teaching support systems often rely heavily on:

BoHmrahs Sdae Eﬁ)éeﬁ) étgr’_‘be_n &5e c‘fm:z'.g BRI erSHEEEaD:

Options :

Interactive online platforms and simulations

| w VBB Soy BS8S 36%en Hbcn okEdren

Blackboards. textbooks. and physical models

, v Sgween, arooddiseen, F8E SHiraren

Virtual reality tools and augmented reality experiences

SENHS BAsrd) HBETren, 5B Jodd B egfaren
3. % T & el &

Collaborative online learning environments
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HFBODE 808 egrsdE Homgiteeen

4. % -



Question Number : 6 Question Id : 26544814313 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

‘Systematic imvestigation to establish facts and knowledge’ 1s the definition of:
‘Dezren, %Eéa"m E}Ug}éméj [_ééneatg@-eé S5 &% BIHS D8 Aejalale
Options :

Learning

Ei'ajfgﬁ&")}]

Problem-solving

o S5 5O

Besearch

588%5%

3.¢

Ewaluation

mﬂ%oéém

Question Number : 7 Question Id : 26544814314 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

When studying the lived experiences of a specific community. a researcher might
employ a:

2.8 @’}é@é Rarez0 Wral Vet edigiaro efiichido Jdined
$H888 5% S5@rROSKOASE:
Options :

Positivist approach with standardized surveys

1% @B Etnnds Sowe’ e8] &8

Post-positivist approach through in-depth interviews

DHVePHBEDHS mobrdrge woe 8 2By &E)Esn

3. %



Both approaches equally

doth fﬁééo‘]{ﬁ“l’_}.] DEoedore

Both of the approaches are not employed.

Boto ﬁé},é‘\,ﬁ)‘“t’_}é} SI@rERoSm
4. % a

Question Number : 8 Question Id : 26544814315 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

In an experiment. the independent variable is the one that 1s:
28 ($Harrdns® xdole Serodin atsdne:
Options :

Measured or observed

» SPoRNORG, H8ded JohEORs.

Manipulated by the researcher

5 ¢ DBFBHH edEsrd IcHKOADE

Held constant for control

DcHo(Ees Dol &otd

Not directly relevant to the study
@ ADT8 (HEgEore HomofHodHd s°th

Question Number : 9 Question Id : 26544814316 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
Sharing your research findings with a wider audience through presentations or

publications falls under the step of:

58858 HOaeeH g}ﬁﬂ}é [ﬁ:ﬁé}@@ﬁ, D36 oo (2h8ese Tegoe
DoHED BF:
Options :
Formulating the research hypothesis

588 BB Sasrthdaint

1. %



Interpreting the results

5 % Pheroidh @dyonohé

Writing the research report

H0-8°Swe BTG (araind

Disseminating research findings

588050 H0Eread aT58) DA%

Question Number : 10 Question Id : 26544814317 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Reference management software can help with:
B530y) AEssires DB 5‘*'3;%35 B8 HPchHbo:
Options:

Generating random citations without checking sources

SdHhed $08 Ichdom dﬁpﬁﬁa&é e Bgaren 658 Dddmes
1. % »

Orgamizing and formatting your references in a specific style

5 2.8 ﬁéééﬁﬁléﬁ SIS VI Eﬁ(ﬁsé-%éésa, cﬁﬂm&ﬁom Sd%0e

Automatically paraphrasing sources to avoid plagiarism
HoET B NarrBohHerH Hgahore eprd HEearoer)) 2oerepedt

HofoiEBohes
3. %

Finding sources for your research

. 5885555 Hded IHHe
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Sub-Section Id : 265448585
Question Shuffling Allowed : No

Question Id : 26544814318 Question Type : COMPREHENSION Sub Question Shuffling Allowed
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Question Numbers : (11 to 15)
Question Label : Comprehension

Note : Answer the questions 11-15 by reading the following passage:

KRE: (8ol sl direrbo sgrdorr 11-15 D Sirgrare @abob.

In the smaller cities the presence of this significant landmark 15 almost mvariable. There 1s
ever the lone and lorn tower. belfry. or spire painted n dark sad colours, seen from afar off.
nising from the decayed little town below: often of some antique. original shape that pleases.
and yet with a gloomy misanthropical air, as of total abandonment. They are rusted and
abrased. From their ancient jaws we hear the husky. jangling chimes, musical and melancholy.
the disorderly rambling notes and tunes of a gigantic musical box. Towards the close of some
summer evening. as the train flies on. we see the sun setting on the grim walls of some dead
city. and on the clustered houses. Within the walls are the formal rows of trees planted mn
regimental order which fringe and shelter them: while rises the dark, copper-coloured tower.
often unfinshed and ragged. but solemn and funereal. or else capped by some quaint lantern.
from whose jaws presently issue the muffled tones of the chimes. halting and broken. and
hoarse and wheezy with centuries of work. Often we pass on: sometimes we descend, and
walk up to the little town and wander through its deserted strects, We are struck with wonder
at some vast and noble church, cathedral-like in its proportions, and nearly always original—
such variety 1s there in these antique Belgian fanes—and facing it some rustic mouldering
town-hall of surprising beauty.
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Sub questions

Question Number : 11 Question Id : 26544814319 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

A regular and significant feature of smaller cities, according to the author is a

BSond (DHsedam D) Do (B, Headoh ©Fes0.

Options:

Watch tower
_— seajee Znthar

Light house

- 8&5 Seaer

Bell tower

Hoéy entner
3. ¢



Clock tower

4 % HESS snthe

Question Number : 12 Question Id : 26544814320 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The word that means. ‘erode’ in the above paragraph 1s
2 oS “erode” @ @g&bﬁb} At )

Options :

Gloomy
1. %

2.« Abrased

Muffled

Ragged
4,

Question Number : 13 Question Id : 26544814321 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The phrase, ‘fringe and shelter’ in the above context means “trees
that "

P HogEng® “Pof Hbcn nRE” wol) 3éy
Options :
Border and cover the walls

1.¢

5> % Encircle the house

Run around a group of houses

Creep over the walls
4,



Question Number : 14 Question Id : 26544814322 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

In the above context, the phrase *solemn and funereal’ ring 1n a/an
mood.

) }ﬁotjég,a’meﬁﬁ “FrBan 0bcin HIVS” S éﬁé?@éé’%@ & SerHarom.
Options :

Blisstul

> % Eanthusiastic

Spirited
3. %

4 Dismal

Question Number : 15 Question Id : 26544814323 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The train passed through a/an city.
Ben Hod Srvo o HHAoD0k.
Options :

Crowded and crammed

Old and abandoned
2.

New and upcoming
3. %

Busy and bustling
4, #

Sub-Section Number : 3



Sub-Section Id : 265448586
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 26544814324 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The message sent by the sender in the form of words. pictures and gestures ete 13
by the receiver.

2.8 a8 Smerest, eS“éJé@eSﬁ, ?\50%@ Snderd Q8 Hoda, o8 ©otHER)
5 el S fore Dard.

Options :

Encoded
1. %

Decoded
o

3 % Encrypted

4. % Scripted

Question Number : 17 Question Id : 26544814325 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
communication cannot be fully relied upon in inter-cultural

communication because of differences in cultures which may lead to
misinterpretation.

éoﬁg&éj@ 0eg Hdroedodt SheleRavinlolby clala arSHEB5m,
JotHEos ﬁocﬁe‘fré}m Lot Hore Hed ob S5 DBeat mﬁ@@a&.

Options :

Verbal
FoL)E
(]

Wrnitten

D8



Non-verbal

eaFE)E
o
Listening
g x o

Question Number : 18 Question Id : 26544814326 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

A teacher should be towards students in order to have a positive

classroom communication.

@dﬁﬁeﬁéé SBKE HoBdEn sPere0d, ﬁcﬁ'ﬂmﬂécﬁmﬁj €550 Sjmfgtﬁga}gﬁ [P
alelayl))

Options :

Empathetic
. Prej udiced

Biased
3. %

4% Stern

Question Number : 19 Question Id : 26544814327 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

A noisy room that interferes with the smooth flow of communication can be
considered as a barrier.

HoBBEY Er&H S5K8 158 HoB¥ (Harsrosd éf’éacp S08%0énod. B
& oo wotrd.

Options :

Psychological
1. %

> % Physiological



Social
3. %

. Physical

Question Number : 20 Question Id : 26544814328 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Theatre. music and dance formats belong to media.

Baheth, Hohsdn, E’aeje‘%a’m & Segards HoaoBodKb.

Options:

Digital
1. %

Traditional

3 % Electronic

Social

Question Number : 21 Question Id : 26544814329 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Complete the series with next coming number: 999. 1000, 501. 168. 43.
Esoasns® Sdrares 0‘63{3 Loms & Jroodod: 999, 1000. 501. 168. 43.

Options :

10
1. %

8.6

3.v 2.6

11



Question Number : 22 Question Id : 26544814330 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

A’s father. pointing towards a person B, said “She is the sister of my mother’s
only sibling” How 1s the person related to A?
A Bo¥y 0|13, B @9F 538 o Sradr. "esh o &) T3k S35 Santysy BB
FAO" @ Ty, & S:8 A & Jer Ho2080 FOR Sy &7

Options:

| % Mother

5 % Aunt

Sister
3. %

. Grandmother

Question Number : 23 Question Id : 26544814331 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

In a race. A gives B a HeadStart of 200 m and still beats him by 100 m. If A’s
speed 15 10/7 times B’s speed what 1s the length of the race?

A B¢, A B 8200 63 3r&EE 2008 OGN @000 1638 @D 100
VS 2.E30006. A TK0 B FK0 Z0T) 10/7 BLY S0 B RBS D0eh?

Options :

1 % 1.5 km

.
w 2.0 km

3 @ 1.0 km

3.0 km



Question Number : 24 Question Id : 26544814332 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

‘A’ sold a watch at a profit of 10%. If he had bought it at 10% less and sold it for
Rs. 13 less he would have made a profit of 15%. What 1s the cost price of watch ?
A 2.8 TG0 10% ergiod DFEonord). @bl 10% %0355 Feoffen T &r. 13
55078 50 @S @S 15% TS0 o, T &8 D0?

Options :

1. ¢ 200

300
. 400

480

Question Number : 25 Question Id : 26544814333 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

A sum of money compounded annually amounts to Rs. 5.120 1n 3 years and Rs,
7.290 in 6 years. Find its annual rate of interest.

J0BHTRS BT SEBES® LB Jweto dr. 3 Do e’ 5,120
6 Dode yoeS" 7.290e008008. 0% 3¢ Bend SHFS0E.

Options :

1 % 75%

10%

Y g0y

Question Number : 26 Question Id : 26544814334 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



Consider the Venn diagram with three sets A, B and C like as follows, with a=10,
b=3, ¢=12, d=5, e=8. £=6. n(A)=30, n(B)=25; n(C)=35. Then g =?

& (8ol Srd Dforr AB.C R Srtd 2tn EOAS VS A$He08° a=10,
b=3, c=12, d=5, e=8. =6, n(A)=30, n(B)=25; n(C)=35 ®ond g="?

Options :

1.% ©

2. %

3. ?

4w 12

Question Number : 27 Question Id : 26544814335 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Statements:

QB exn:
No building 1s a wall.

D #Hddr a8 A seth.

Some walls are rooms.
8"y Riten Hesen.
All buildings are rocks.
eR)) ddaren U“ﬁ];]
Conclusions:

SwAoY edarcio:

I. No building 1s a room.

&) DD KB oKD,

II. Some rooms are buildings.

5°Q)) fithen gdaren.

III. Some rocks which are not buildings being walls 1s a possibility.

gdaren 520 B Dﬂﬁ;@, ﬁﬁtﬁﬂcﬂaag widsedo &ob.



Options :

. Only III follows

5 % Either I or II follows.

Only I and IIT follows

Only IIT and either I or IT follows.
4.

Question Number : 28 Question Id : 26544814336 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The distinction between Savikalpaka (determinate) and Nirvikalpaka
(indetermunate) 1s made with respect to which of the following pramanas?

FOENE, DBEeNE g é%mvﬁj&éa B (SSrerd) o8 &gm@gé}?
Options :

. Anumana (inference)
1.

> Pratyaksa (perception)

3 % Arthapatti (postulation)

Upamdana (comparison)
4. %

Question Number : 29 Question Id : 26544814337 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

In a certain code language. if SP 1s coded as UR and LO 1s coded as NQ then TV
1s coded as

2.8 B grié® SPH UR i, LO & NQ i EP68808¢0ma TV
aner (B AEB5.

Options :



VX
4.+

Question Number : 30 Question Id : 26544814338 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Match the following lists with correct ones:

HBFE BE° 28585HS0:

List-I List-I1
eeé)a -1 ed)ee — 11
a. Pratyksha 1. Perception
e wh
S8 @go 5@5”36&&
b. Anumiti 11. Presumption
VRV &35
¢. Upamana 111. Comparison
SRSt v 850E
d. Anumana iv. Inference
@087 270595
Options :
1. % a-L b-i1.  c-iii,  d-iv
o ® a-iv, b-i1, e-1.  d-iii
3. « a-l. b-1iv. c-m. d-11
4 % a-iv. b-iii, c-i1, d-i
Sub-Section Number : 4
Sub-Section Id : 265448587

Question Shuffling Allowed : No



Question Id : 26544814339 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (31 to 35)
Question Label : Comprehension
Note:  Answer the questions Q.31 to Q. 35 on the basis of the information given below.
raRE: S0t mld darardo egrdore Q3106 Q.35 HEpH Sdrgrare
[aeaod.

The number of votes cast in an election i five Assembly constituencies: A B, C, Dand E
the state of Telangana during the last three election years 2014, 2018 and 2023 are presented in
the following Bar diagram.

b SOk 3 580 2014, 2018 B 20236 BOOTE TSR D) &902)

JATWrEESTEN A,B,C,D SO0 E O 2008 255 FBS 4.6 Howg (206
7B BerdsoeS (S0 0050808.

Number of Votes casted in the last three election years

B34

D 873
535,782
R 247 545
C 751 437
48,659
197,342
921346
I 131 443
A 6,851
318,461
0 100,000 200,000 300,000 400,000 500,000 600,000
A B C D E
m2014 181443 197,342 242 548 458,894 361,678
E2018 196,851 139,597 254432 498 873 403,621
m2023 218461 221,346 248,659 535,782 422,562

W2014 WM2018 W2023

Sub questions

Question Number : 31 Question Id : 26544814340 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

What is the total number of votes cast in the five constituencies in the year 20187

2018 &' ¢ ATPBEST'S FBS TNB0 4,8 HOBWE JOES?
Options :

14.41.905
1. %

2.



15.53,374

3 x 1543374

4 % 16.46.810

Question Number : 32 Question Id : 26544814341 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

What 15 the least number of votes polled in the given five constituencies in the year
20237

L LY il 5 ¥y -6 ' (¥4 1 W
2023 50365 3506Y DD I 0N ATTTeESTE 580} 09 FSeS 2,8 oD
o)0es?
Options :

1. % 1.97.342

1.81.443

3. v 2.18.461

4 % 199597

Question Number : 33 Question Id : 26544814342 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

In which constituency the number of voters decreased when compared with 2018 and
20237
2018, 202368 OB & ATTreE5¢0eS 8,60 dows SHoH?

Options :

1. ® f
2. % B
C



Question Number : 34 Question Id : 26544814343 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

In which constituency the number of voters inereased more when compared with 2018
and 20237

2018 SHOOKD 20238 OB & ATraESG0eS .68 HowE DOROE?

Options :
A

Question Number : 35 Question Id : 26544814344 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The total number of votes polled in the C. D and E in 20187
20186Y C, D, E & 30650 2,8 D0 s DOes ?

Options :

11.56.926

> % 11.63.126

3 % 12.46.926

Sub-Section Number : 5
Sub-Section Id : 265448588
Question Shuffling Allowed : Yes



Question Number : 36 Question Id : 26544814345 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following is open source?

& B0 AE° HBH gy sBGERACSKD BIB DH?
Options :

1. % MS Word

Windows
2.

Mozilla Firefox
3.¢
4 % Acrobat Reader

Question Number : 37 Question Id : 26544814346 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

What should you do to ensure secure online transactions?
88 HProre HOBERD DEDHOLHE?
Options :

Lock your computer

Bosggoth & a¥o S50t

1. %
Give credit card or bank details only on safe websites
v Béens=th, eroH oren THESDS S5 pe5es adnl
2. i
Use anti-virus
5 x O0838R aSErhobHe

Do not use pirated software

@é&é@é %‘9%35263 P EothHe



Question Number : 38 Question Id : 26544814347 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

What should a strong password consist of?

OIS FRHE Jer sorD?

Options :

Only letters
eE0eD Soehsdh

1. %

Numbers and special characters

@OSen, {gj’ééé svﬁéq';

Name of a person

558 S

Letters. numbers and special characters
egoren, ®o8en, {‘_af:ééé sﬂfﬁg@ﬁ

Question Number : 39 Question Id : 26544814348 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Internal communication within institutions 1s done through
Joge e ©0S8S HoBdo B weoe HOHB

Options :

LAN
1.¢

WAN

EBB

MMS



Question Number : 40 Question Id : 26544814349 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

HTML is used to create
820 HhoHedH HTIML oGSt
Options :

Machine language program

| % airolBE gy (88 (resw

High level program

S %;DJJ (&8readn

Web page
35

Web server

35 S

Question Number : 41 Question Id : 26544814350 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

A source of renewable power which can be developed with minimum cost 1s:

E0g3 5’35653055 5DEGe S8 S SERaNA JoHOABH
Options:
Biomass power

DEPSFS S8
1.9

Tidal power

BS <8

Wind mills
el Sotien

4. %



Geothermal energy
63 Domoy I8

Question Number : 42 Question Id : 26544814351 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

In which part of India. the tropical Western Ghats are situated?

5308056 ) |[grodihoth sgRnote HEnd Shinen Soi?

Options :

Pumjab
Hoeed

Kerala

L, B

Madhya Pradesh
EAVIny tSlnks]

Rajasthan

ore3a P
(]

Question Number : 43 Question Id : 26544814352 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Sustainable Development Goals (SDGs) are formally known as. ..

Sy ateIntat el @&é&% OSTED DT

Options :

Transforming Our World: 2030 Agenda

v 308 (Do) Srdne: 2030 e@one

Sustainable Living for All: 2022 Agenda

©o68 RBS L50: 2022 eBow
2. ®



Life of Dignity for All: 2022 Agenda
woB8 MEH0&® et #D80: 2022 eBome

One Planet, One People: 2030 Agenda

4% 2.8|15550, 28 220 2030 wBoe

Question Number : 44 Question Id : 26544814353 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Among the following fuels of energy. which are the most environments friendly?

& 89D 38 morTredt, 28 QBN Dot Birsede Gotron?

Options :

Biogas

3 ¥ Hydrogen

Ethanol
4, %

Question Number : 45 Question Id : 26544814354 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

One of the anthropogenic sources of gaseous pollutants chlorofluorocarbons n air
15

& (Bod Q&S Soeedadesdy aeciD é@é&‘{ﬂﬁ:éﬁﬁj 2,88 g‘jﬁ%"‘ﬁ%ﬂ@%ﬁ)@éﬂ
SoTeers:
Options :

Cement Industry
5 Thotn HBFED

Fertiliser industry

- aniye HOEn



Foam industry

L o D SO

Pesticide industry

syt shothe HB|ED
4. %

Question Number : 46 Question Id : 26544814355 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which 1s the first Engineering College of India?

=0l Bt mozdBorh sod He?

Options :

Thompson College

P.S.G. College of Technology

2. %

, x INTU
VIT

4, %

Question Number : 47 Question Id : 26544814356 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Prime Minister Research Fellowship 1s for students pursuing a Ph.D. programme in:

95.3275.8 [Brsns’ Hersdold H88%m asssdsto & &Ipd QgL
Tet:lelnletAIN AN

Options :

1 % State and Central Umiversities

> Central Universities, IISc. IITs, NITs. IISERs, and ITIT

3 % IISc. IITs. NITs. IISERs. IIITs. State and Central Universities



IITs and IISc

Question Number : 48 Question Id : 26544814357 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The purpose of value education 1s best served by focussing on

DenBHos® Erés O ﬁé%’o & (Bob 08 BUD a1 ée0 Ho
J83E0H?

Options :

Cultural practices prevailing in the society.

Hmemod® &) %Oﬁ'@@é e958ea0en

1. %
Norms of conduct lay down by a social group.

5 % el Siurdean Eﬁiﬁnjfﬁﬁfl?ﬁ (DD DSHIrHE
Concern for human values.

3 v B DenHeoth o8 HS
Religious and moral practices and mstructions.

4% 08002008, IBE e3Besen, ArEden

Question Number : 49 Question Id : 26544814358 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Why Environmental Education 1s considered essential for children?
Heob HogHse Dy HnegEn dothded ©os?

Options :

Environmental education 1s only relevant to adults.

2ogRses DL Y88 Soo|sh H020HoIBE

Early exposure to environmental education can shape lifelong attitudes and
behaviours.

GRelelne e 2ogR8es g GO0 PO 208 Jptoen, SEHHO
DoErd SrdHi,



Children are too young to understand complex environmental concepts.

£350% Ho%dbes grONeod ©Bo BB e Heen 0 Dt

3. %

Children are not affected by environmental issues.

HomgEdes $E0dge (Derdo Heooz B,

4. =

Question Number : 50 Question Id : 26544814359 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 2 Wrong Marks : 0

Good Governance’ and ‘Participating Civil Society for Development” were stressed

in World Bank Report of....

“DHBareR” ‘@é]&é@)%eﬁﬁ :ﬂﬂeﬁgﬂ PEHErasn’ ek S B0 (HHod o

8ethes® 5°8) Samb.

Options :

1992
1.¢

1997
2000

2003

SectionId:

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :
Maximum Instruction Time:
Sub-Section Number :

Paper II

265448190
2

Online
Mandatory
100

100

200

0

1



Sub-Section Id : 265448589
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 26544814360 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

What 1s the planning horizon?

Options :

The time ahead for which there is no information.

« The maximum time for which managers can make plans.

The length of time into the future that plans are made.
3.¢¥

The time period within which uncertainty 1s very low.

Question Number : 52 Question Id : 26544814361 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The clan control involves

Options :

1 % Authority
5  High level mentoring
3 % Rules and Standards

4 w Profit Centres

Question Number : 53 Question Id : 26544814362 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



Which organisational structure facilitates occupational specialization?

Options :

1. ¢ Functional structure

“ Divisional structure

3 % Network structure

4 % Horzontal structure

Question Number : 54 Question Id : 26544814363 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
Which one of the following is not a characteristic of a burcaucratic organization?
Options :

1 % Authority

5 % Regulations

3 % Command structure

Change
4. v

Question Number : 55 Question Id : 26544814364 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

When the demand curve 1s a rectangular hyperbola. it represents:

Options:

Pertectly elastic demand
1. %

2. ¥



Unitary elastic demand

Perfectly inelastic demand

4 % Relatively elastic demand

Question Number : 56 Question Id : 26544814365 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The mcome elasticity of demand 1s negative for a

Options :

_— Positive good

> % Negative good

3 % Elastic good

Inferior good

Question Number : 57 Question Id : 26544814366 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s not a survey method of demand forecasting?

Options:

Barometric method

5 % Expert opinion method

Consumers interview method



Collective opinion method

Question Number : 58 Question Id : 26544814367 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Match the List —I with the List — I and choose the appropriate answer from the

options given below:

List —1 List — 11
a. Monopoly 1. Two firms
b. Oligopoly 1. Price takers
o Monopolistic competition 1. A few firms
d. Perfect competition 1v. Weak barriers
v. One firm and one product
Options :
: a—i, b-1  e¢—1. d-v
5 @ A7 b—ii, c—1wv, d-u
3 g a—1, b-v, ec—ii d-iv
4 % a-1v, b-iii, ec-v. d-i

Question Number : 59 Question Id : 26544814368 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



Match List-I with the List-II and select the correct option given below:

List—1 List - II
(CSR Models) (Emphasis)

a. Ethical Model 1. Corporate responsibility limited to private
business.

b. Statist Model 11. Voluntary commitment by companies to public
welfare.

¢. Liberal Model 1. State ownership and legal requirements
determine corporate responsibilities.

d. Stakeholder Model 1v. Companies respond to the needs of customers,

commnunity efe.

Options :

1.% a—1, b—1, c—u1 d—1v

5 % a—11, b—1, c—1v. d—1

3 ¢ a—i b-mi e—1 d-iv

a—1. b—m., c—1, d-—1iv
4. %

Question Number : 60 Question Id : 26544814369 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The field of organizational behaviour 15 primarily concerned with:
1. The behaviour field of mdividuals and groups
1. How resources are effectively managed
u1. Control processes and interactions between organizations and external context
Options :
1 only
1. % g

111 Only

3 % Bothiand i



4. Both 1 and 111

Question Number : 61 Question Id : 26544814370 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
Which of the following explains learning of reflex behaviour?
Options:

1 ¢ Classical Conditioning

5 % Operant Conditioning
3 % Social Learning

Cognitive Learning

Question Number : 62 Question Id : 26544814371 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Name the motivation theory that 1s based on Satisfaction-progression:
Options :

1. ¢ Alderfer-ERG theory

5 % Maslow-Hierarchy of needs theory

3 % Herzberg-Two factor theory

i Skinner- Reinforcement theory

Question Number : 63 Question Id : 26544814372 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes



Correct Marks : 2 Wrong Marks : 0

What 1s the term for a stress management technique that involves consciously
focusing attention on the present moment?

Options:

Procrastination

Mindfulness

3 % Self-eriticism

4 % Over thinking

Question Number : 64 Question Id : 26544814373 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
What 1s the relationship between a transactional leader and their employees?
Options :

Emotional and long-lasting
> % Collaborative and mutually beneficial
3 « Iransitory and not emotional

4. % Hierarchical and unidirectional

Question Number : 65 Question Id : 26544814374 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

What type of organisational culture 1s most likely to deliver stability and
efficiency?

Options:

1w Task culture



2.+ Role culture

3 % Power culture

Accommodative culture

Question Number : 66 Question Id : 26544814375 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

What 1s the term for a state of emotional. physical. and mental exhaustion
caused by prolonged stress?

Options:
Anxiety

1. %

5 % Depression

3 % Fatigue

Burnout

Question Number : 67 Question Id : 26544814376 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

What 15 the name of the process in which an employee informs another responsible
employee mn the company about potentially unethical behaviour?

Options :

1« Whistle-blowing

5> % Purging and releasing

3 % Information transfer



Identification
4, %

Question Number : 68 Question Id : 26544814377 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Match the List — I with the names shown in List —II and select the correct answer
from the options given:

LIST -1 LIST -II
a. Theories of Personality 1. David C McClelland
b. Transactional Analysis i1. Donald W. Fiske
¢. Sociometric Analysis u1. Jacob Levy Moreno
d. Big-5 Factory Theory v. Sigmund Freud
e. Behaviour Event Interviewing v. Eric Bemne
Options:
Options :
a-i1, b-1v. c-u, d-1,  e-v
1. %
5 o IV b-v. c-ui.  d-il.  e-1
a—iv,b-v, ¢-1i, d-u, e-ui
3. %
4 % a-ui, b-v. ¢-1.  dav, e-n

Question Number : 69 Question Id : 26544814378 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The critical role of the Strategic Human Resource Management Application Tool
1s to:

Options :
Identify if the organisation has enough staff, if the staff need training, if the

compensation practices are appropriate, and if jobs are designed correctly
1. %



Identify and assess a narrow group of actions and plan how the organisation
can overcome resistance to change

Outline techniques. frameworks. and six steps that must be followed to
effectively implement change in an organization Power motive

Develop a better strategic management process to deal with the dynanuc

changing environment today's organisations face.

Question Number : 70 Question Id : 26544814379 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Competency Mapping 1s possible through approaches like —
1. Job analysis / workforce skills analysis / supply and demand analysis
11. Job analysis / gap analysis / solution analysis
1. Gap analysis / solution analysis. Job analysis / workforce skills analysis
supply and demand analysis

Options :

1. % 1 Only
) % Both 1 and 1

3 ¢ 111 Only

1. 11 and 111
4. % 7"

Question Number : 71 Question Id : 26544814380 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Balanced Scorecard can act as a powerful —
Options:

1 ® Developmental framework



Operations framework
2. %

3 % Service framework

Controlling framework
4.+

Question Number : 72 Question Id : 26544814381 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
Which consulting company 1s associated with the concept of talent management?

Options:

Price Waterhouse Coopers
1. %

Boston Consulting Group

McKinsey
3.v¥

Deloitte
4. %

Question Number : 73 Question Id : 26544814382 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The type of career planning which prioritize the career of individuals over the
needs of organization is classified as:

Options :

Compression career planning
1. %

> Individual centred career planning



Tactile carcer planning
3. %

Orgamised centred career planning
4., %

Question Number : 74 Question Id : 26544814383 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

What 15 the process of deciding how to fill company’s most important positions?

Options :

Succession Planning
1.¢

Organisational Restructuring

3 % Corporate Downsizing

Self-directed Teams
4. %

Question Number : 75 Question Id : 26544814384 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The self-assessment test in which the employees were asked about the preferences
regarding occupation is classified as:

Options :

Strong vocational interest inventory
1.4

« Tactile interest inventory

3 % Swat test of career



Lindzey study of values

Question Number : 76 Question Id : 26544814385 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

*Corrective action should be immediate. impartial and consistent with a warning”’
— this 15 called the-

Options :

Ciscos disciplinary rule
1. %

Commeon disciplinary rule
2. ®

3 ¢ Eed hot stove rule

Yellow hot stove rule
4, %

Question Number : 77 Question Id : 26544814386 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

In India. the regulation of employment and conditions of employment are
coverned by:

Options :

The Industrial Disputes Act of 1947
1. %

. The Trade Unions Act of 1926

The Workmen Compensation Act of 1923



The Factories Act of 1948

Question Number : 78 Question Id : 26544814387 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Match the List-I with the List —II and choose the correct answer from the options

given below:

LIST-1 LIST-1I

a. Indian Accounting Standard — 1 1. Provisions, Contingent Liabilities
and Contingent Assets

b. Indian Accounting Standard — 29 1. Consolidated Financial
Statements

¢. Indian Accounting Standard — 37 1. Presentation of Financial
Statements

d. Indian Accounting Standard — 110 iv. Financial Reporting for Hyper

Inflationary Economies

Options:

Options :

a-1v, b-iil, c-1,  d-1

1. ®

5 & a-in. b-1tv, ¢-1, d-n
a-in, b-i, ¢-11, d-iv

3. %

a-iv. b-m. ¢  d-u

Question Number : 79 Question Id : 26544814388 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



Which of the following events after the balance sheet date would normally qualify
as adjusting events according to AS-4 (Events after balance sheet date)?
a. The msolvency of a customer on the balance sheet date

b. A decline in the market value of mvestments
¢. The declaration of an ordinary dividend
d. The determination of the cost of assets purchased before the balance sheet date

Choose the most appropriate answer from the options given below:

Options :

a and d only
1.¢

a and b only

b and ¢ only

L &G and d only

Question Number : 80 Question Id : 26544814389 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Funds flow statement is primarily based on the-
Options :

1% Business entity concept

w Accounting period concept
3 % Cost concept

Going concern concept
4.

Question Number : 81 Question Id : 26544814390 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes
Correct Marks : 2 Wrong Marks : 0

Cost-volume-profit (CVP) analysis 1s a key factor in many decisions, including
choice of product lines. pricing of products. marketing strategy. and use of
productive facilities. A calculation used 1n a CVP analysis 1s the breakeven point.

Once the breakeven point has been reached. operating income will mncrease by the:

Options :

Gross margin per unit for each additional unit sold.
1. %

2 % Variable costs per unit for each additional unit sold.

3 Contribution margin per unit for each additional unit sold.

4% Fixed costs per unit for each additional unit sold.

Question Number : 82 Question Id : 26544814391 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

One of the major assumptions limiting the reliability of breakeven analysis is that-

Options:

1 % Efficiency and productivity will continually increase.

5 % Total variable costs will remain unchanged over the relevant range.

3 ¢ Total fixed costs will remain unchanged over the relevant range.

. The cost of production factors varies with changes in technology.
4.

Question Number : 83 Question Id : 26544814392 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



The overall capitalization rate and the cost of debt remain constant for all degrees

of financial leverage is advocated by:
Options :

Miller-Modighiani Approach

5 Net Income Approach

Net Operating Income Approach

Traditional Approach
4, %

Question Number : 84 Question Id : 26544814393 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

A company has calculated the following NPV and costs for a selection of projects.
Projects-1 and 2 are mutually exclusive, the projects are not divisible and the
company has Rs.10.00.000 available for investment.

Project—1 NPV Rs.2.00.000 costs Rs. 4.00.000
Project—2 : NPV Rs. 1.60.000 costs Rs. 3.00,000
Project—3 : NPV Rs. 4.00.000 costs Rs. 7.00,000
Project—4 : NPV Rs. 1,00.000 costs Rs. 6.00,000

The company should invest mn:
Options :

Projects — 1 and 2

' _9
5> & Projects — 2 and 3

3 % Projects — 1 and 4

4 % Projects — 2 and 4

Question Number : 85 Question Id : 26544814394 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes
Correct Marks : 2 Wrong Marks : 0

A profitability index of 0.75 for a project means that:
Options:
The present value of benefits is 25% greater than the project's costs.

1. %

The project's NPV 1s greater than zero.

3 @ The project returns Rs. 0.75 in present value for each current rupee invested.

The project's NPV 1s Rs. 0.25 for every current rupee invested.

Question Number : 86 Question Id : 26544814395 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

To compute the required rate of return for equity in a company using the CAPM. it
1s necessary to know all of the following, EXCEPT:

Options:

1% The risk-free rate

The beta for the firm

2. %

3 % The market return for the time period
o The earnings for the next time period

4.

Question Number : 87 Question Id : 26544814396 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

When a profit making parent company merges into a loss-making subsidiary
company. it 1s called as:



Options :

1 % Demerger

5 % Disinvestment

3 @ Reverse Merger

~ Takeover
®

Question Number : 88 Question Id : 26544814397 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
The credit of taking portfolio theory from abstraction to reality goes to:

Options:

1 % Harry Markowitz

5>  William F. Sharpe
~ Jack Treynor
%

Eugene Fama

Question Number : 89 Question Id : 26544814398 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

An option that would lead to negative cash flow if it were exercised immediately
1s:
Options :

1.« Out of the money option

. In the money option



3 % At the money option

. With the money option

Question Number : 90 Question Id : 26544814399 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

A forward rate agreement helps the user to:

Options :

Reduce the cost of borrowing

Fix the cost of borrowing
2.9

Cover exchange risk
3. %

Avail tax benefits
4, %

Question Number : 91 Question Id : 26544814400 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Who 15 of the following potentially obligated to sell an asset at a predetermined
price?

Options :

A put writer
1.4

A put buyer
2. %

3 % A call wrter

w A call buyer



Question Number : 92 Question Id
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

: 26544814401 Question Type : MCQ Option Shuffling : No

The value of a target firm to the acquiring firm 1s equal to:

Options :

The purchase consideration of the target firm.

The meremental value derived from the acquisition.

The value of the merged firm minus the value of the target firm as a separate

entity.

The value of the target firm as a separate entity plus the incremental value

derived from the acquisition.

Question Number : 93 Question Id
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

: 26544814402 Question Type : MCQ Option Shuffling : No

If EOQ = 360 units. order costs are Rs. 5 per order. and carrying costs are Rs.0.20

per unit, what is the usage in units?
Options :

1.29.600 units

2.592 units

25.920 umts

. 18,720 units

Question Number : 94 Question Id

: 26544814403 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes
Correct Marks : 2 Wrong Marks : 0

Assertion (A): Higher the lead time. the lower is the amount of working capital

l'fqllil‘ﬂllléﬂf :

Reason (R): If the raw material is available freely and continuously, then less

working capital is needed as less inventory has to be maintained.

Choose the correct from the options given below:

Options :

1. %

Both (A) and (R) are true and (R) 1s the correct explanation of (A).

> % Both (A) and (R) are true and (R) is not the correct explanation of (A).

3.

4.

Question Number : 95 Question Id
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

v Assertion (A) 1s false but Reason (R) 1s true.

“ Assertion (A) 1s true but Reason (R) 1s false.

: 26544814404 Question Type : MCQ Option Shuffling : No

Reduction in the value of domestic currency of a country through market forees is

known as:
Options :

Deepreciation
1.4 P

Devaluation
Revaluation

3. %

Appreciation

Question Number : 96 Question Id

: 26544814405 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes
Correct Marks : 2 Wrong Marks : 0

According to classification by International Monetary Fund (IMF). the currency
system of India falls under:

Options:
Independently floating

1. %

Managed floating

Pegged to basket of currencies
3. %

Crawhng peg
4, =

Question Number : 97 Question Id : 26544814406 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following tools is best suited for evaluating a company’s competitive
position 1n the market?

Options :

PEST Analysis
1. %

5 % SWOT Analysis

3 ¢ Porter’s Five Forces

BCG Matrix
4, %

Question Number : 98 Question Id : 26544814407 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are applicable to Mckinsey's 7S framework?
I.  Effective organisational change is the relationship between seven factors

of the framework.

II.  Strategy. structure. systems and style are ‘Hard S’ of the framework. while
staff, skill and shared values are the ‘Soft S” of framework.

II.  Change in any one element effects change in other elements for effective
organizational change.

IV.  Framework can be used for facilitating organizational change.

V. A priori, it 1s obvious which of the seven factors will be the driving force
in changing a particular organization at a particular point of time.

Options :

L IV, and V only
1. %

T .
5 @ L IIT, and IV only

3 % I II. TII. and V only

4% I IL III. and IV only

Question Number : 99 Question Id : 26544814408 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Arrange the following growth strategies in the order they appear on the Ansoff’s
Matix:
I.  Market Penetration
II.  Product Development
III.  Diversification
IV.  Market Development

Options :
1 % LILEV. W
> % IV, I 1

3 ILLIV.II



4 AN EL

Question Number : 100 Question Id : 26544814409 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Assertion (A): According to Marketing Concept, products are bought because of
their quality and other features.

Reason (R): The marketing concept aims to find out the needs and
requirements of customers and satisfying them m an effective
manner.

Choose the correct from the options given below:

Options :

1. % Both (A) and (R) are true and (R) 1s the correct explanation of (A).

Both (A) and (R) are true and (R) 1s not the correct explanation of (A).
2. ®

3 Assertion (A) 1s False but Reason (R) 1s true.

4 % Assertion (A) 1s true but (R) 1s False.

Question Number : 101 Question Id : 26544814410 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
Which concepts holds that consumers if left alone will ordinarily not buy enough
of insurance’s products?
Options :
Product

1. %

Production
2. ®

3 % Selling



Marketing
4.

Question Number : 102 Question Id : 26544814411 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Market for automobiles needs to be segmented on the basis of:
1. Buying behaviour
11. Psychographics
111. Geographic
1v. Demographics
Choose the most appropriate answer from the options given below:

Options :

1 % i and 1v only
2 % 111 and 1v only
3 % 111 and 1v only

1. 11, 111. and 1v
4.«

Question Number : 103 Question Id : 26544814412 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Arrange the following pricing strategies and other practices as per the life-cycle
of a new product of which no close substitutes are available.
1. Gradual rise m price
i.  Product improvement and market segmentation
ut.  Gradual reduction in price to retain sales
1v.  Skimming pricing
v.  Large price cuts
Choose the most appropriate answer from the options given below:

Options:

1 % . i i v.and i

2.



v, 1, 1, i, and v

3 % Vi i, 1, u,and 1v

. 1v. 11, 1i,and v
4. %

Question Number : 104 Question Id : 26544814413 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

It 1s a promotion strategy that calls for the using the sales force and trade
promotion to move the product through channels,

Options :
Integrated strategy

1. %

5 % Pull strategy

3 Push strategy

Blocking strategy
4, ®

Question Number : 105 Question Id : 26544814414 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



Match the List-I with the List-IT and choose the correct option from the options

given below:

List—1 List—1II

a. Cost-plus Pricing 1. Pricing that specifies the total number
of units to be sold to obtamn the desired
profit

b. Target Pricing 1. The price of a product or service based
on the market price

¢. Gong-rate Pricing ui. Pricing primarily focuses on customers
perception of product’s or service’s value

d. Value-based Pricing iv. Pricing that involves the addition of fixed

percentage to the cost of producing one
unit of product or service

Options:
Options :

a-1v. b-1. c-11. d-111
1. ¢

a-i1.  b-iv. ¢, d-u1
2. %

3 % a-il.  ben.  c-tv. de1

a-1.  b-wv. c-1,  d-u1

Question Number : 106 Question Id : 26544814415 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s used to identify the brand. to enhance brand awareness
and to facilitate unique brand association?

Options :

Brand personality

1. %

5 % Brand positioning

Brand elements
3.¢¥



. Brand marketing

Question Number : 107 Question Id : 26544814416 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
According to the stimulus-response model of buyer behaviour. the place where
consumers process marketing stimuli prior to making purchase decision 1s known
as:

Options :

Consumer’s cognitive schema

> & Consumer’s black box

3 % Consumer’s value chain

w Consumer’s thoughts-emotions network
4,

Question Number : 108 Question Id : 26544814417 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The starting point in understanding how consumers respond to various marketing

efforts. the company might put in. is:
Options :

. The Maslow’s model of life-cyele changes
1.

5 % The Lipinski model of buying behaviour

3 % The Freudian model of buying behaviour

The Stimulus-response model of buying behaviour



Question Number : 109 Question Id : 26544814418 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Assertion (A): An established brand name enables the firm to charge prices
higher than the competing products.

Reason (R): Many companies with established brand names decide to
introduce new products in the same name.

Choose the correct from the options given below:

Options :

- Both (A) and (R) are true and (R) 1s the correct explanation of (A).

> Both (A) and (R) are true and (R) 1s not the correct explanation of (A).

3 % Assertion (A) 1s true but Reason (R) 1s False.

4% Assertion (A) 1s False but Reason (R) 1s true.

Question Number : 110 Question Id : 26544814419 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
The sequence of a typical manufacturing supply chain 1s:
Options :

1« Supplier — Storage — manufacturing — storage — distributor — retaler — customer

Supplier — Storage — manufacturing — distributor — storage - retailer - customer

w Supplier — Storage — manufacturing — storage — retailer - distributor — customer

4. % Storage — Supplier - manufacturing — storage — distributor — retailer - customer

Question Number : 111 Question Id : 26544814420 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes
Correct Marks : 2 Wrong Marks : 0

1s based on the 1dea that a customer’s expectations of the service

they will receive shape their perception of the actual service encounter.

Options :

Service action

> % Service satisfaction

3 ¢ Service quality

Service recovery

Question Number : 112 Question Id : 26544814421 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which one of the following not included in SERVQUAL model dimensions?

Options :
Reliability

> Intangibility
Empathy

Assurance
4, %

Question Number : 113 Question Id : 26544814422 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s consistent with customer relationship marketing?

Options :



Maintain transactional relationships with customers.
1. %

Distributing goods through limited service discount stores..

3 Working with buyers to determine their individual needs.

4 % Developing market share through mass-media advertising.

Question Number : 114 Question Id : 26544814423 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following reflects the sum of perceived tangible and mntangible
benefits and costs to a customer?

Options :

1 % Customer expectation

Customer satisfaction

3. % Customer delight

Customer value
4.

Question Number : 115 Question Id : 26544814424 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
What 1s the primary focus of customer service in relationship marketing?
Options :
Acquiring new customers

1. %

5 Building long-term customer relationships



3 % Implementing effective marketing campaigns

Maximising short-term profits

Question Number : 116 Question Id : 26544814425 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

What 1s not easy to change in Retaill Management?

Options :

Price
%®

2 % Promotion

3 Location

4 % Merchandise mux

Question Number : 117 Question Id : 26544814426 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following metries 1s most important for content marketing success?

Options :

| % Likes and shares on social media

> % Email open rates

3 @ Organic traffic

Bounce rate
4, %



Question Number : 118 Question Id : 26544814427 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which digital marketing strategy involves creating and sharing content to
stimulate interest in a brand. rather than explicitly promoting a brand?

Options :

Direct marketing

Public Relations
2. %

3 % Sales Promotions

Content marketing
4,

Question Number : 119 Question Id : 26544814428 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

What does 'Conversion Rate' mean in digital marketing?

Options :

1 % The rate at which a company’s sales team converts leads into customers

5  The percentage of website visitors who take a desired action

3 % The change 1n sales figure before and after a marketing campaign

The number of clicks on an advertisement

Question Number : 120 Question Id : 26544814429 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

What 1s the primary purpose of A/B testing in digital marketing?



Options :

1 % Totest the security of the website.

5 % To test the functionality of new website features.

To compare two versions of a web page to see which performs better?
3.¢

4% To measure the loading speed of a website.

Question Number : 121 Question Id : 26544814430 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

An arrangement to pay for import of goods and services with something other
than cash 1s known as

Options:

Countertrade
1.4

5 % Reversal buying

3 % Dumping

4% Drop-shipping

Question Number : 122 Question Id : 26544814431 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Under which of the following, the newly developed product 1s simultaneously
mtroduced in all kinds of global markets:

Options :

Trickle down model
1. %



Shower model
2.

Trickle shower model

o Heckler model

Question Number : 123 Question Id : 26544814432 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

What are the variables whose calculation i1s done according to the weight. height.
and length known as?

Options :

1 % Flowchart variables

Discrete variables
2. %

Continuous variables
3.¢

4 % Measuring variables

Question Number : 124 Question Id : 26544814433 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Arrange the following steps in the process of hypothesis testing in a proper
sequence and choose the correct answer from the options given:
1. Select the level of significance
1. Setup null and alternate hypothesis
1. Establish the decision rule
iv.  Perform the computation
v.  Select test statistics
vi.  Draw conclusion

Options:

Options:



1. 1, V, 111, 1V, V1
1.+

2 % L1 1, 1V, V. V1

1, 11, V, 1V, 111, V1

i1, 1, 111, 1V, V, Vi

Question Number : 125 Question Id : 26544814434 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

We will draw three cards from a pack of 52 cards. What would be the probability
that these cards are a jack. a queen. and a king?

Options :

| % 8/16575

5  16/5525

5 x 313

4w 6412197

Question Number : 126 Question Id : 26544814435 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
Which of the following is NOT a characteristic of a Chi-square distribution?
Options :

1 % The Chi-square distribution 1s a continuous probability distribution

The Chi-square distribution i1s symmetric around its mean



The degrees of freedom parameter determines the shape of the Chi-square
distribution

. The mean of the Chi-square distribution 1s equal to its degrees of freedom.
4,

Question Number : 127 Question Id : 26544814436 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Statement — 1: In statistical hypothesis testing, a Type I error 1s the failure to
accept a true null hypothesis. also known as a "false positive”
finding or conclusion.

Statement — 2: In statistical hypothesis testing, Type II error is the failure to reject
a false null hypothesis. also known as a "false negative” finding or

conclusion.

Options :

1« Both 1 and 2 are correct

5 % Both 1 and 2 are wrong

1 1s correct but 2 1s wrong
3. %

4 % 11iswrong but 1 is correct

Question Number : 128 Question Id : 26544814437 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

A regression analysis between sales (in Rs.1000) and price (in rupees) resulted

in the following equation:! = 50.000 — 8X. The above equation implies that an

Options :

,, Increase of Rs. 1 in price is associated with a decrease of Rs. 8 in sales.



Increase of Rs. 8 mn price is associated with an mnerease of Rs. 8.000 1n sales.

Increase of Rs. 1 in price is associated with a decrease of Rs. 8.000 in sales.
3.¢¥

Increase of Rs. 1 in price 1s associated with a decrease of Rs. 42.000 in sales.

Question Number : 129 Question Id : 26544814438 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

ERP stands for :
Options :

Enterprise Revenue Planning

5 % Enterprise Resource Process

3 % Enterprise Recovery Process

Enterprise Resource Planning

Question Number : 130 Question Id : 26544814439 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following systems lays emphasis on achieving cost efficiencies by
the principles of reduction?

Options :

, x SCM

5 o JIT

3. % TPM



Shop floor management
4, %

Question Number : 131 Question Id : 26544814440 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
Which of the following concepts is used to measure the company’s quality?

Options :

Production system

- ISO 9001

Six-s1gma

_ Sales forecast
4. %

Question Number : 132 Question Id : 26544814441 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

A teasible solution to a linear programming problem

Options :

1.« Must satisfy all the constraints of the problem simultancously.

Must optimize the value of the objective function.
2. %

Need not satisty all of the constraints. only some of them.
3. %

o, Must be a corner point of the feasible region.

Question Number : 133 Question Id : 26544814442 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes



Correct Marks : 2 Wrong Marks : 0

The solution to a transportation problem with m - resources and n — destinations
1s feasible. if the number of allocations are:
Options :

1 & m+*n

2 ® i1

m -1

4 m+tn-1

Question Number : 134 Question Id : 26544814443 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The company. which produces, markets. mvests and operates across the world 1s
called as:

Options :

Global company

. International company

3 % Multinational company

Transnational company
4.

Question Number : 135 Question Id : 26544814444 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The Theory of Relative Factor Endowments 1s given by:

Options :



F.W. Taussig

5 & Ohlin and Hecksher

David Ricardo
3. %

Adam Smith

Question Number : 136 Question Id : 26544814445 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The demand for domestic currency in the foreign exchange market is indicated

by the following transactions in balance of payments:
Options:

1. % Export of goods and services

5 % Import of goods and services

3  Export of goods and serviees and capital inflows

4% Import of goods and services and capital inflows

Question Number : 137 Question Id : 26544814446 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

What 1s the name of the international organization that fosters monetary and
financial cooperation and serves as a bank for central banks?

Options :

- World Trade Organisation (WTO)

) Bank for International Settlements (BIS)



3 % European Union (EU)

4 % World Bank (WB)

Question Number : 138 Question Id : 26544814447 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The Management Information System (MIS) recerves input from the:

Options :
1. % Secure Sockets Layer (SSL)

5 % Global Positioning System (GPS)

3 % Learning Management System (LMS)

Transaction Processing System (TPS)
4. ¢

Question Number : 139 Question Id : 26544814448 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following is the most promising area of Artificial Intelligence (AI)?

Options :
Big Data
x E

5 u C hatGPT

3 % Chatbot

4 Machine Learning



Question Number : 140 Question Id : 26544814449 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Identify the techniques of Artificial Intelligence from the following:
1. Artificial Neural Networks
1.  Heuristics
1. Fuzzy Vector
1v.  Support Vector
v. Genetic Algorithms
Choose the most appropriate answer from the options given below:
Options :
1 @ LALY only
5 % 1.1t ivonly

3. % 1. iv. v only

4w LI only

Question Number : 141 Question Id : 26544814450 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

What 1s the goal of data mining?
Options :

To analyse data for expected relationships.
“

) To explain some observed event or condition.

« To confirm that data exists.

4. % To create a new data warehouse.

Question Number : 142 Question Id : 26544814451 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes



Correct Marks : 2 Wrong Marks : 0

Who applied the word entrepreneur to business for the first time?
Options :

1 % Robert Owen

> % Joseph Schumpeter
3 Richard Cantillon

4w Max Weber

Question Number : 143 Question Id : 26544814452 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Assertion (A): Entrepreneurship can lead to economic and social transformation.
Reason (R): Entreprencurship 1s the actor while the enterprise 1s the act.

Choose the correct answer out of the following choices.

Options:

_— Both (A) and (R) are true and (R) 1s the correct explanation of (A).

9 % Both (A) and (R) are true but (R) 1s not the correct explanation of (A).

3. % Assertion (A) 1s false but Reason (R) 1s true.

v Assertion (A) 1s true but Reason (R) 1s false.

Question Number : 144 Question Id : 26544814453 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Fabian entreprencurs are characterized by:
Options :

“ Hard working



> Cautious and Skeptical
3 % Religious and traditional

4 % Ready to take risk

Question Number : 145 Question Id : 26544814454 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of these actions of an entrepreneur will most likely result in creative
destruction?

Options:

. Lowering prices of your product or service

5 % Taking over a competitor’s business

Developing a new product
3.v e

4 % Issuing shares to individuals and institutions

Question Number : 146 Question Id : 26544814455 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

If an entrepreneur has an internal locus of control, this means that he/she:
Options:
Has a high need for achievement.

1.4

> % Escapes in an unstructured situation.
3 % Believes that success or failure depends on his/her team actions.

4 % Believes fate is a powerful foree.



Question Number : 147 Question Id : 26544814456 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

As per Government of India. a small enterprise is one in which the annual
turnover is more than one crore rupees but not more than-

Options :

1 % Bs. 10 crores

> % Rs. 20 crores

3 v Bs. 50 erores

4 % Rs. 100 crores

Question Number : 148 Question Id : 26544814457 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

What 1s the name of the public procurement portal launched by the Mimstry of
MSMEs. Government of India?

Options :
MSME Connect

MSME Procure

MSME Acquire

4. v MSME Sambandh

Question Number : 149 Question Id : 26544814458 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



Assertion (A): Feasibility analysis is a crucial step in evaluating the viability and
potential success of a business idea or project.

Reason (R):  Feasibility analysis helps m assessing the practicality, market
potential. financial viability. and resource requirements of a
business 1dea before commutting significant resources.

Choose the correct from the options given below:

Options :

Both (A) and (R) are true. but (R) is not the correct explanation of (A).
1. %

5  Both (A) and (R) are true, and (R) is the correct explanation of (A).

3 % (A) 1s true, but (R) is false.

4. % (A)1s false. but (R) 1s true.

Question Number : 150 Question Id : 26544814459 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Arrange the steps in GE Model 1n the correct sequence:
I. Assess Business Strength

II. Identify Market Attractiveness

III. Determine Competitive Position

IV. Select Strategy

Options :

I, L IIL, IV
1.4

2 » LIKHL TV

3 % HLILL IV

IE T, LIV
4. %





